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COMMERCE

Paper - 111

All questions are compulsory.

The Competition Act, 2002, seeks to
regulate

(A) Anti-competitive agreements
(B) Mergers and amalgamation

(C) Unfair trade practices

(D) (A) and (B) above

Indicate the true statement :

(A) Large industrial houses are
outside the purriew of the
Competition Act, 2002

(B) There is no provision for
curbing frivolous complaints
under the CPA.

(C) The Trade Marks Act, 1999
does not apply to services.

(D) All of the above are true.

The time limit for filing a complaints
before the District forum under the
Consumer Protection Act, 1986 is
(A) one year

(B) two years '&

(C) three years
(D) There is no such time limit.

The Foreign Investment Promotion
Board (FIPB) revamps the rules and
regulations pertaining to

(A) Accounting of Foreign Investment
(B) Investment by NRIs

(C) Foreign investments

(D) All of the above

Which of the legislation(s) do (does)

not form part of the Ilegal

environment of business in India ?

(A) The Drugs and Cosmetics Act,
1940

(B) The Prevention of Food
Adulteration Act, 1954

(C) The Monopolies and Restrictive
Trade Practices Act, 1969

(D) Both (B) and (C) above

Paper-I11

6.

10.

Note : This paper contains seventy five (75) objective type questions of two (2) marks each.

What is the underlying concept that
support the immediate recognition of
an estimated loss ?

(A) Substance over form

(B) Consistency

(C) Matching

(D) Prudence

Which is not the limitation of

budgetary control ?

(A) Budgets are based on forecasts
which may not be true

(B) Installation and operation of a
system of budgetary control is
costly.

(C) Budget is a tool of management
and not a substitute of
management

(D) Budgets do not pinpoint the
lack of efficiency or the
presence of it.

Profit volume ratio of an enterprise is
40%. To offset 10% decrease in
selling price, how much sales must
be increased ?

(A) 10% (B) 20%

©) 25% (D) 40%

If debt is T 220, cash balance is ¥ 20
and equity is ¥ 300, then the gearing
ratio is

(A) 20%
) 50%

B) 40%
(D) 30%

Responsibility accounting aims to

(A) ensure that a manager is
punished if things go wrong.

(B) ensure that costs become the
responsibility of a specific
manager.

(C) allocate costs to all areas of a
business.

(D) reduce the «costs that a
department incurs.
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g
1.  wiaee eafaw, 2002 FE-F1 Hat=a
FATE ?
(A)  UfqeTet-fortes e
(B) fooras v g
(C) oHad =AMUR v
(D) 3w (A) & (B) 31

2. T YA FaRd —

(A) =g ohefis e wfaeet
aTrafEm, 2002 % & ¥ AR |

(B) CPA & 3=Td ‘HTeir Frerar
i At T s UEHH Tel & |

(C) e "rhy affufam, 1999 Jemait
TR AT &l I & |

(D) ST Tl FAE |

3.  SUMIRT GROT SAfUtEH, 1986 &
s fefigae ww % wHet forshr
TS A FHI-HT S |
(A) THTH 'y
(B) =
(C) day
(D) UL g THT WA & T |

4. foRsht fEwr dedm oS (UEemE )
Fad wEtyg T we fafar o
A TR HLT & ?

(A) To=eT FawT & oRaie
(B) NRIs 5RT fawr

(C) forewt farer

(D) 3w At

5. [=fcfea ¥ ¥ & @1 s yra
FHRIAR 3 faleeh ATameRoT 1 o Tl & 2
(A) 3Ty T SR T S, 1940
(B) W@ 3Yutgsior Ry Stfut1aw, 1954
(C) TUHIUHR Td wideurasd: =Am

Wt S, 1969
(D) SR (B) 3R (C) Tt
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SAITA BT Y Aeehret TEa B GHE
FHA A SFAMTET SR T & 2

(A) TET T T ATF Tewaqol
(B) Eaan
(C) e
(D) fomr

FeTe Frg=ron it | R A g 2

(A) ST QEHFT W SR & & S
o e &t ot &1 Wb & |

(B) oS &= # WO W

T TS UeTer Ut i € |

T, U T STH0T Bl & 3T

T T ATqeITaT T8l |

TS, AT H AU AUl SHH
SRt o7 Siek-3ih o T oRI © |
SEH B AT-ATT 3T 40% € | feht
HAd H 10% TR i gfasqgfed &

% 12, foshl o fepeit i et =nfed 9
(A) 10% (B) 20%
(C) 25% (D) 40%

g /0T T 220 &, THT 99 T 20 T IR
st % 300 &, A fR e e
foherr & 2
(A) 20%
(C) 50%

B) 40%
(D) 30%

SRR @I Sl e

(A) € gHvad &1 € foh ot & ST
W JEh i 30Sd fhaT ST € |

(B) I& GHRER FHEAT foh A o
Teh i SRR &9 ST €

(C) Nl Hf FRER & qff &= o

ST AT |

T =t ST BT hH SR |
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11. Find the correct matching of the
items of List — I with the items of
List — II given below :

List -1 List - 1I
(a) Normal (I) Excess of
Profit total revenue
over  total
explicit cost
(b) Economic (I) Total
profit revenue
equals total
economic
cost

(¢c) Accounting (III) Excess  of

profit total revenue
over total of
explicit and
implicit
costs and a
normal rate
of return
Codes :
(D dp [
A) (© (@ (b)
B) () (@ (o
© @ b (©
D) @ () (b
12. Assertion (A) : A monopoly firm’s
revenue curve is downward
sloping from left to right.
Reason (R) : The monopoly firm
does not simultaneously enjoy
the freedom to determine both
price and quantity to be sold
according to its whims and
fancy.
Codes :

(A) Both (A) and (R) are true.

(B) Both (A) and (R) are false.

(C) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.
Paper-I11

13.

14.

L

15.

. (ii1) Horizontal

The equilibrium level of output for a
perfect competitive firm is given by
the point where :

(A) MR =MC

(B) MR <MC

(C) MR >MC

(D) MR = MC, and MC starts
rising.

Match the following : 1
List -1 g ALiSt- 9/1 )

(i) Dumping r) Monopoljstic
_competitive
% | Jfinm
(ii), Kink&.q ' (b) @ligopoly
B Reve firm

&

! ‘Curve "

(c) Perfectively

competitive
firm

traight line
evenue curve

Large number (d) Discrimin-

of buyers and atory
Hérs  with monopoly
differentiated
products

Codes :
@ G) () (1)

A @ @ @© ©®

B) b @ @ (©

© @ ® © @

D) @ ®) © @

Penetrating  pricing
appropriate when

strategy  is

(A) price elasticity of demand in
the market is highly inelastic.

(B) price elasticity of demand in
the market is uncertain.

(C) price elasticity of demand in
the market is highly elastic.

(D) income elasticity of demand in

the market is negatively elastic.
J-08-14

www.examrace.com



11, I — [ 9 931 61 gt — 11§ 031 o a1
e Y ST 9 KT iet & FeEdr
T Tl ST HT TIT

el - 1 el - 11
(a) AMH &M () A WL AT W

ol 3T ol 3T

(b) 3TTH A (1) FT 3T FeA S
AT o SR

(c) T @A™ (TII) FA T T& 3L

AT 3R Afdwet
H T I W e
T T ST

O dh )
A (© @ (b
B) b @ (©
© @ ®) (© &
D) @ (© (b

12. AfMHUA (A) : THIUSHRT & H1 T
awaﬁ@aﬁrm%ll

FRU(R)  :UHTER B B e

e Ud T % IR G DA

wd fosha @ Al HET SE W

ﬁa‘rﬁﬁebw?frwdddlqﬁﬁ‘%l

(A) (A) IR (R) I TA E |

(B) (A) 3R (R) I 310 & |

(C) (A)TEE, W< (R) 3TA ¢ |

(D) (A)3TAE, ] (R) TAE |
J-08-14

13. T g uiqEd w6 % ferd See @
T X 39 fomg o¥ gra € ST —
(A) MR =MC
(B) MR <MC
(C) MR >MC

(D) MR = MC, 3R MC ¥ gfg g
JEEAE |

14. T=fatad s e o
T -1 r vjﬁ—ilr

(i) =t ﬁ)gﬁﬁﬁqﬁzﬁwﬁ
P
@)ggha{m.‘ (b) TR

iii) ieft W@ (c) goiaar

&eEo gfcegeicTss &Y
V) 3aRl  (d) fovies TReR
. T g |
,%zamffaasm
a&j_‘:

@» G @) (@)
A @ @ @© O
B) () @ (@ ()
© @ b © (@
D) @ ®) (© @

15. iaeid ®HAd HERer ®f HEE 39
TG IUERT il & ST

(A) TSR T AGT & HEAG A= AT
TARR T |

(B) SR H U H HEd A
AT & |

(C) =R H HET &l HAd o Ad
AR E |

(D) SR H 1T 27T A FOTcHS
T Y AR Y |
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16.

17.

18.

19.

Assertion (A) : The expected values
should be atleast 5 to apply the
chi-square test.

Reason (R) : The chi-square
distribution provides an
adequate approximation of the
sampling distribution.

Indicate the correct answer from the

following :

Codes :

(A) Both (A) and (R) are true, and
(R) is the right explanation.

(B) Both (A) and (R) are true, but (R)
is not the correct explanation.

(C) (A)is true, but (R) is false.

(D) (A)is false, but (R) is true.

In a decision problem having four
possible alternative decisions and six
possible states of nature, the pay-off
table will include

(A) Four payoffs

(B) Six payoffs

(C) Twenty four payoff
(D) Ten payoff

The mathematical formula for joint
probabilities P(AB) = P(A/B) x P(B),
holds when

(A) The events are statistically
independent.

(B) The events are statistically
dependent.

(C) The event is either independent
or dependent.

(D) None of the above

Which one of the following

statements is the correct

interpretation of P-value of less than
0.01 in hypothesis testing ?

(A) There 18 overwhelming
evidence to infer that the

alternative hypothesis is true.

(B) There is strong evidence to
infer that the alternative
hypothesis is true.

(C) There is weak evidence to
indicate that the alternative
hypothesis is true.

(D) There is no evidence to infer that
the alternative hypothesis is true.

Paper-I11

21.

20. Two lists of items are given below :

List - I List — 11

(i) Charles (a) Mossai
Babbage

(ii) Herbert A. (b) HTML
Simon

(ii1)) Tim (c) Computer
Berners Design .
Lee P B

(iv) Maarc (d) Dec_i_§{:n °J
Andreessen :niodel JB

Which one of the following is ‘trhe
correct match ?
Codes :

@» G @) (@)
A © b @ @@
B) @ @© (@ (b
<G b @ (@© @
D) © @ b (@

Which of the following statements
are true about informal organization ?
1. It arises spontaneously.

2. It reflects individual and group

goals.

3. It tends to be permanent and
stable.

4. It tends to be small and
manageable.

5. Its basic purpose is to improve
human relations.

6. Its basic purpose is to achieve
organisation’s goals.

Codes :

(A) 1,2,3and 5
B) 1,2,4and 6
(C) 1,2,4and>5
(D) 2,3,5and 6

J-08-14
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16. ATHFUT (A) : FETRR  WROT 20, i S g S T E
TR B % for STuferd god & 9
FH 5 g A | Tt - 1 Tt - 11
FROT(R)  : FE-TRT & Hicwa T e, s
T N g FHITER S TS ® ®
HATE | (i) BEC T FEAT (b) THLTAT.
e & @ et 3R 1 99T W i) BAER A (o) F fee
®: . 5
(A) (A) 3R (R) 31 @7 &, 3R (R) (iv) A TERA (d) W”@?
Wl frfefad 3 @ Tl I 1 =57
(B) (A) 3R (R) THi & & R (R) 57
el AT TEl ¥ | = : - -
(C) (A)THE W (R) T T | @ () @) (Gv)
(D) (A) I E, WA R)TAE | A) © () @ @
d b
17. Fom = gGaen g 9 gred ® @ © @& ®
Aieass (U SR T Guiiad feaft ¢, © b @ (© @
T U3 oA H 1 YIS g 2 D) © @ @O ()
(A) IR U-3TEd
(B) & U-3TEw 21, SR W ¥ AR § e §
© 7G-S T DI AT FH T E 2
(D) TH U-3fHH
g (1) o& FesTn § ferepid g & |
18. € e : P(AB) = P(A/B) x (2) T JatR T A % o e
P(B) & fora mifvreiar gt om] e & 7 S
(A) =T G €9 9§ WA= € | ’
(B) eI WiferHE w0 W ania ¥ | (3) ¥ wrE ud feR g T |
(C) =T 7 A W= a1 A & | 4) TE oY Ud HeE B |
D) 3IWF T T HIE Tel .
®) T (5) THH TeTd 2T HEEE Tl
19.  SEEECET W F 0.01 9 FH Pged I GERATE |
W %?E'@E'ﬁ@aﬁqm (6) THH YA LT TS % el
T YT AT & 2
(A) TE FTAF FIA H STAMEH THT0T AT HE
2 o Srepicteh Tt 9cd & | FT :
(B) e STAH A T TG THIT & (A) 1.2.3 %5
o SepfcTeh UTeRhod T 9T § |
(C) & 3THM T 1 Jeiel JHIT & (B) 1,2,43R6
o Sep{caeh UTehed T T & |
(D) TE 3FAM A T HIE FHTOT &l © 1,245
& o SrehfeTeh UTerheT T G ¢ | (D) 2,3,53W6
J-08-14 7 Paper-I11

www.examrace.com



22,

23. According to Talcott Parson,
organizations can be classified
primarily into four categories, based
on functions. Which of the following
is not an organization in Parson’s
scheme ?

(A) Political organisations

(B) Integrative organisations

© Patterp . maintenance|I (L
organisations

(D) Commercial organisations

24. An MBO programme usually

involves the following steps :
1 Establishing unit’s objectives
2 Establishing organisational goals
3. Negotiating or agreeing
4 Reviewing the performance
5 Creating action plans
Indicate the correct sequence of the
above steps from the following codes :
(A 1,2,3,4,5
B) 2,1,3,5,4
©) 2,3,1,4,5
(D) 5,4,3,2,1
Paper-I11

Which of the following is not true

about an employee-centered leader as

identified by Michigan researchers ?

(A) Treats subordinates as human
beings.

(B) Shows concern for their well
being.

(C) Focuses on work standards and

close supervision.

(D) Encourages and involves them
in goal setting.

25.

26.

27.

Match the following :
List-1 List — 11
(a) Fayol (1) Economy and
Society
(b) Taylor (2) General and
Industrial
Administration
(c) Weber (3 Principles.ofe
Organiiﬁzn‘ |
(d) Mooney  (4).Shop / v/
and Reilly anagemen£ r
Codes : - |

(@ () (© @
@ & @ GO @
B @ @ @O B
e @O 3 O @
O @ 3 O @)

A primary group influencing the
buyer behaviour is a

(A) Family

(B) Professional association

(C) Religious group

(D) Trade Union

After conducting the business

analysis for developing a new

product, a company must do
(A) Idea generation

(B) Product positioning
(C) Product

testing

development  and

(D) Test marketing
J-08-14
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22.

23.

24.

oy weeRie 3 SHERI-hed A

FIN Y 8 T TE AT 2

(A) oMl & WY HHAE SEER
FAE |

(B) 3% feaetyt & i@ TWRIR S9Mar
T

(C) = & 9 U9 Fer e w
HHT HAT § |

(D) € WoAmed &l & R e
TeRoT § 3 e AT § |

RIS UG o AR, TSl Sl HEt
% YR W IR o | aiiehd fohar S
Tl & | =fatad § & SiF a1 Sed
R B @i § @ 2

(A) TSI ST

(B) HHTHATHS TS

(C) U 3FIRRTOT e
(D) anforaes |Te

Tt e, HEHT H W HHEIEE
fr=fafad |u= Sgd €

(1) THE % LT Bl T

(2) WIS AL ! AT

(3) WHC AT WP

“4) ?ﬂWﬁWWg-ﬂlqmlqﬂ

(5) W A A G
fefeRad el ¥ Suga AT 1 Hqel
GH%UEIFI'I'&:

A 1,2,3,4,5

B) 2,1,3,5,4

© 2,3,1,4,5

D) 5,4,3,2,1

J-08-14
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25.

26.

27.

e =t gafed #X
e -1 = - 11
(a) AT (1) THAT Tog TrTeer

(b) 2R (2) SRe Uvg gefgae
TeMHRIH
(c) I (3) TriTe® aTT

\

‘.
OERSAUNOREELRS
B :

(=N
L |

(@ () (© (@
@ 3 @ GO @
B @ @ @O 3
e @O 3 O @
O @ 3 O @)

Al & FIER B TWIEd FA el
T T

(A) dRER

(B) USIaR oT G
(C) iteh wE
(D) W WA

T IS TR FE & O FaEs
ToPeATOT S o 1% BT BT T HEAT
e 2

(A) foari =1 g5

(B) TS T AT
(C) 3 1 forshre wat wteqor
(D) uRieTor fquue
Paper-I11
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28. Match the items in List — I with those

in List —1I :
List - I

(a) Post
purchase
behaviour

(b) Personal
selling

(c) Everitt M.
Rogers

(d) Salesperson

training

List - IT
(i) AIDA

(i1) ACMEE

(ii1) Diffusion of
Innovation
(iv) Cognitive

dissonance

Indicate the correct matching :

Codes :

@ b © (@
(A (1) @) (@) @Gv)
B) Gv) (@i) (i) (1)
(©) @) @Gy @ @)

D) Gv) (@@ @) (1)

29. Which type of retail stores generally
has the highest operating costs ?

(A) Department store

(B) Supermarket

(C) Chain store

(D) Co-operative Store

30. Indicate the correct statement :

(A) India has been a pioneer in
social marketing.

(B) Advertising Standards Council
of India is a statutory body set
up by the government of India.

(C) Both (A) and (B) are incorrect.

(D) Both (A) and (B) are correct.

Paper-I11
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31.

32.

%

Match the items of List — I with the
items of List —II :
List -1 List - 11
(a) Trade credit (i) Maturity
and other Financing
payables that
arise in the
firm’s day
today . A\ 4
operations r .
(b) Financing and (i) Fae ori)g |
asset  needs \/ 4 v/
over time r
(c) A tool for i S,po'ntaneous
acceleratiilg'- financing
the colfection"
T “from the 1 r
. “Chistomers
. (d) Seeking (iv) Lockbox
inancial system
service to
finange on its
4.
rg:?a‘nces
Codes :
@ ® © @
(A) Gv) (i) @G (@)
B) @) @) av) @)

©) @G @Gv) @ (i)
D) @) a1 () Gv)

Indicate the cost of equity capital,
based on capital asset pricing model,
with the following information :

Beta coefficient — 1.40
Risk-free rate of interest — 9%

Expected Rate of Return on
equity in the market — 16%

(A) 9.8% (B) 18%
(C) 18.8% (D) 16%

J-08-14

www.examrace.com



28. gt — I GE — I1 3 91T T e

it -1 et - 11
(a) ST &S AR (i) AIDA
(b) F@f® s (i) ACMEE

(c) TRT T, TH  (jii)Tavac o TER
(dl) TershaT =T TIRTET0T (i) SEICHeh ST
TE I AT

T4

(=N

(@ (b)) (© @
A) () a1 () Gv)
(B) @Gv) @) (i) @)
©) i) @G @ @v)
D) Gv) (@) () (i)

29. 9 UHER H FH FHAET HI Htllcdrii((

AN U 3=9dH Bldl & 2

(A) feurdHe =R
(B) g e
(C) TARR
(D) IR ©WR
30. el o S
(A) W%ﬁ%ﬁwmw%

(B) R4 o= AH® URUg ARA
WHR g @ feEr
Hoeres e & |

(A) 3T (B) ST Tord € |

(A) 3T (B) IAT W € |

©
(D)
J-08-14
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31.

32.

el — 1o =&l bt gl — 115 H&l % |
ﬁﬁfﬂﬁaﬁ
it - 1 et - 11

(a) TR RO TE 3 () RO

AT ST Th HH feraareroT
% fequfdleT &
IR IREACER o
B E | <\
(b) AR FoREET (i) Fﬁ'zﬁ
el URE e, W ¥ )
(c) TTEeh & T (iif) &1
g iy ! i
A WW
?d)ﬁm O (i)
. 1 forqaroor Tt
: & o T
! TATIT BT
E T
4
@ (M) (© @
(A) (v) (i) () @)
B) (i) G 3Gv) (@)

©) @G @Gv) @ (i)
D) @) a1 () Gv)

freferfiaa gemr & Qe getra aieam
HAd FYRT giget (CAPM) WX SR
St ISt bl ANTT Sared

dier (B) 7T = 1.40
SATEH o =TT i 3T — 9%
TR et

TfAwe I STUfId 3T — 16%
(B)
(D)

18%
16%
Paper-I11

(A) 9.8%
(©) 18.8%
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33. The degree of super-leverage would
be calculated by :
(A) Adding DOL (Degree of
Operating Leverage) and DFL
(Degree of Financial Leverage)
(B) Dividing DOL with DFL
(C) Multiplying DOL and DFL
(D) Subtracting DOL from DFL
34. Interim cash inflows are reinvested at
a rate of return equal to the internal
rate of return 1is the built-in-
mechanism for
(A) Net Present Value Method
(B) Internal Rate of Return Method
(C) Profitability Index Method
(D) None of the above
35. Who formulated the following model
for estimating the market price of
equity share ?
Ra
D+ R_c (E-D)
P= R,
Where, P = Market price‘Qf quuity share
D =DPS .
E=EPS
E —D = Retained earning per
share
R, = Internal rate of return on
investment
R_ = Cost of capital
(A) Modigliani-Miller
(B) Myron-Gordon
(C) James E. Walter
(D) Clarkson and Elliot
Paper-I11
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36.

37.

Indicate the quantitative methods of
job evaluation
(A) Ranking methods and Job
comparison method
(B) Point rating method and Factor
comparison method
(C) Grading method and Job
classification method
(D) Factor comparison method and
Ranking method
Match the items of List — I with those
List—1I:
List-1 44  Dist-1I
§ (1 Career{ 1. (a) Theri)rocess
1 oals where in an
. executive
' serves as a
guide

2) Career (b) The future
path / positions one
' strives to reach
(“ as part of

4 career
(3) Career (©)
counseling

The sequential
pattern of jobs
that form a
career

(4) Mentoring (d) Guiding
people on their
possible career
path

Codes :

O @ G @

@ b © @ @

B) @ ®) (© (@

<G @ © b @

D) © b)) @ (@
J-08-14
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33. gW-GERS @ Fife H GROET HEE
FRT 1 ST 2

(A) VEeR SRSt ®ife (DOL) we
famii wfteRst sife (DFL) % S
3T

DOL ! DFL & |1 91T &7
DOL &t DFL ¥ T[T &eh
DOL &I DFL ¥ =21 i

(B)
©
D)

AT g FAVAE HI UAHA Hh
NS T &% SREX Uaed T O
framr fam ST € @ g% T for
siaftea fsrantafy & 2

(A) e a9 9o vt
(B) WfaweT 1 M=aReh <X Ui
(C) R aHIH TG
(D) SUgH § F HIE Tl

34.

35. (et Y & SNIR oI F S
wr % o e W
e o & 2
Ra
D+R_C(E—D)

R

: P = S{erel 3% 1 AT 9ol
D= g diua.
E=zdus.
E - D = Ufd i1 ufaeiia Surm
R, = Pt o et 1 Sl 70
R, = 7 1 e
Aifsferamr — R
A — e
ST 3. AR
FATHEA TS oI

(A)
(B)
©
D)
J-08-14
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36. 1 Yodieh i AETCHS Tl S

(A)  SoTiRToT gTaat Ud e JeT USia

(B) 3% MRl Ugfd U6 HNH qor
g

(C) o9 IO Ygid Ud HF oo
LEA)

(D) SR T UHId Ta SO0 TG
a a ™ » _ |

37. et — 1Rt it — 11 % A1 GHfere 1 :

' ;ﬁﬁ-f‘ T

(1) BT A Y(a) T HFHAT STt

' FEAITAS ANEIF &
T Y B AT |

et ug (Fefaan) et
e HE o & &

( Wjﬁ (b)
("

T Y UEH T

f TATE |

(3) HRER (c) AT T TR Tert

ot GoT® ST A S § |

(4)ATRIE  (d) AR Rl 36 Feed
HRIT T TGI8 & |

E T

M @ 3 @

(A) ) (© @ (@

B) @ ® © @

© @ (© O (@

D) © @b @ (@@
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38. The process of receiving and
welcoming an employee when he
first joins a company and giving him
the basic information he needs to
settle down quickly and happily and
starts working, is referred to as

(A) Placement
(B) Orientation
(C) Job Rotation
(D) Counseling
39. Which is not relevant of succession
planning ?
(A) Analysis of the demand for
managers
(B) Review of existing executives
(C) Planning individuals career
paths
(D) Recruitment to meet immediate
needs
40. Where does recognition of an
Employee fall in Maslow’s hierarchy
of needs theory ?
(A) Self-actualisation
(B) Security needs
(C) Social needs
(D) Esteem needs
41. The profitability of public-sector
banks is low due to
(i) Over-cautions approach to
lending
(i1)) Reserve Bank Policies
(iii)) High Overhead Costs
(iv) Social-sector lending
Identify the correct code :
Codes :
(A) (1) and (i)
(B) (i) and (iv)
(©) (1), (ii1) and (iv)
(D) (ii) and (iii)
Paper-I11
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42. Match the items of List — I with those

List — I and select correct answer :
List -1 List - 11
(1) Narasimham (a) Lending under
Committee consortium
arrangement
(b) Frauds and
Malpractices in
banks L
(©) Secur‘i'es‘l
4 operatio of -'
F

banks and:
mstitutions

(2) Shetty
Committee

(3) Ghosh
Committee

financijal

(4) Janakir; man- (d) Fiffancial system
— omm1 tee ‘ in India

Codes :

(a)
(3)
(2)
4)
3)

(b)
“)
3)
2)
“)

(©)
2)
4
3)
(1)

(d)
)
)
)
2)

(A)
(B)
©
(D)

43. Which of the following financial

institutions not with the
supervisory Purview of Reserve
Bank of India ?

(A)

is in

Foreign Commercial Banks
Operating in India

B)

©

(D)

Regional Rural Banks
Mutual Funds
State Co-operative Banks

44. The Repo and Reserve Repo rates are

resorted to by the RBI as a tool of

(A) Credit Control

(B) Settlement Systems
(C) Currency Management
(D) Liquidity Control

J-08-14
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38.

39.

40.

41.

HHUR S HOAT § JOH I A & ol
STHT T A 3T I G SR,
S T 39 efon v Gei-aet ael s
3 B URTT X I & [0 e gt
2, 29 I ufshaT T el € 2

(A) T

(B) INTERRT

(C) HE-uiERAT

(D) AT/ 3T

IAATHFR o ford FarsH &q - o

T E 2

(A) VST % 72 BAT T faveioor

(B) forem shrEuTeishi 1 eeIor

(C) SATHITT HRAT gt T T

(D) dIchiteTsh  STEvIRATS &l I
FH & ford ot

AT o STavashal sy g o
FUARI &l AT FEfetEa § 9 ey
T & 2

(A) -UFETRIT

(B) T METIHAY

(C) I 3Tevgehand

(D) WidwaT i SATEvashand

&

HEASieh & & Sehl B AMRIal g
FHROT FHH ¢ ?

() SUR I & AT FAHDHRI SUTTH
(i) Tt o At

(i) =9 SN AT

(iv) TTHITSTeh-&7 T o

TEl T AT

£ T
(A)
(B)
©)
(D)

(i) 3 (ii)

(i) 3R (iv)

@), (iii) 3T (iv)
(ii) 3T (iii)

J-08-14
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42.

43.

44.

el — 1o =&l bt gl — 119 H&l % a9
ﬁﬁfﬂﬁaﬁ:
e -1 = - 11
(1) RGeH QEld () HREA F4
T &

I SUR ST
(2) WS WA (b) I H grEr uE

(3) =Y WAt

(©)
2)
4
3)
(1

(a)
(3)
2)
“4)
3)

(d)
)
)
)
2)

(A)
(B)
©
D)

frfafaa & 4 s 9@ o g
TR s a6 % FRieqoens drmanes
HEE?

(A) ¥Ra 4 uiEnferd fagen anforfsaes
CED

&3 T e

T HEhRI o

(B)
©
D)

TRAF RTel s o g7 3T ue e 39t
T H AN [HEF ST F TG A
fopar ST € 2

(A) 0T FF=T
(B) e ugfa
(C) T Y
(D) oReran fa=mr
Paper-111

www.examrace.com



45.

Which

one of the following

institutions is promoted by the IFCI :

(A)

(B)

©

D)

Credit Analysis and Research
Ltd (CARE)

Rashtriya Gramin Vikas Nidhi
(RGVN)

Clearing Corporation of India
Ltd (CCIL)

Small Industries Development
Bank of India (SIDBI)

46. Indicate the right sequence of the
stages of internationalization :
(i)  Multinational Company
(i1) Global Company
(iii)) Transnational Company
(iv) International Company
Codes :

A) @O Gv) @) (i)
B) Gv) @ G (i)
© @ Gv) @) (i)
D) av) ® G (i)

47. Which of the following is not one of
the components of ‘International
Reserve’ ?

(A) Special Drawing Rights

(B) Reserve Position in IMF

(C) Monetary Gold

(D) Money Market Instruments
Paper-I11
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48.

49.

50.

Match the items given in List — I with
the most appropriate items in List — II :

List -1 List - 11
(a) UNCTAD (1) Foreign
mvestment
(b) WTO (ii) Developing
Countries
(c) TRIMS (iiil) UNDP
(d) ITC (iv) Generald,
Couél i
Codes : .
@ ® @© @
(A) () @Gv) @) (i)
B) @) @Gv) @) (D)
© av) @) @) (i)
D) (i) ) G 3>Gv)

Duty levied on the value of goods
imported is referred to as

(A) Ad valorem Duty
(B) Compound Duty
(C) Specific Duty
(D) Import Duty

Which of the following can be
included in the current account of the
balance of payments ?

(1)  Purchase of goods from abroad

(i1) Sale of services abroad

(iii)) Workers’ remittances from
aboard

(iv) Sale of copyright to foreigners

(v) Direct investment in equity
capital

Codes :

(A) (), (11) and (ii1)
(B) (), (11) and (iv)
(©) (), (1), (1i1) and (v)
(D) (), (1), (111) and (iv)
J-08-14
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45, T=fafea 9 ¥ f6g 9 % [FCI g1
vatad fear STer & 2

(A) Fo7 foveioor wa Wy femAes
(CARE)

(B) T TrEoT farshre i (RGVN)

(C) ¥rRdm e fm  fefes
(CCIL)

(D) YRdAE &g S faeE d%
(SIDBI)

46. STORTSCIHIOT i AT H1 TET HA
av—ns?i:

() TEUSTHEA (i) e B

(i) TR FEA (1v) SR BT

T4

A ) @Gv) @) (i)
B) Gv) (@) () (i)
© @® @v) () (i)
D) Gv) (@) @) (ii)

47. TfefEad 9 @ i SeRieg e
THEH Tl ¢ 2
(A) o ammevor s
(1;) a@.@.@fﬁuﬁaﬁ-ﬁr&:aﬁfwﬁ
© e
(D) YT IR % o

J-08-14
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48.

49.

50.

gt — [ 9 Hei B g — 11 9 S WS &

e -1 = - 11
(a) UNCTAD (i) foget femr
(b) WTO (i) Torepraeter <91
(¢c) TRIMS (iii) UNDP
(d) ITC (iv) TET aReR
72 i

(@ ) (© (@

(A) @Gy Gv) () (i)
(B) (ii) @v) (@) (i)
(©) Gv) @Gi) @) (i)
(D) (i) @Gi) (@) (@1v)

-

AT aeqen & od W oaEr T
S[oh T HEAT & ?

(A) T A Joh

(B) T Yok

(C) fafme 3ok

(D) 3T ok

frfafad 7et § @, fF9 we B =R

GqoH % @] @ | g fear S

el & 2

() oo 9 axqet & w@lig

(i) Tacer & Qarew =i foshr

(i) Toser ¥ HHTR T AT A

(iv) Tacfemt = HdREe i fosht

(v) 3Rt ﬁfﬁ o gy e

E T

(A) (@), (@) R (i)

B) (@), (i) R (iv)

©) (@), (i), Gi) W (V)

D) (@), (i), (i) W (iv)
Paper-111
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51. Which of the following items would
be specifically included in the
statement of cash flows constructed
in compliance with AS-3 ?

(A) Conversion of debt to equity

(B) Acquiring an asset through
lease

(C) Operating and non-operating
cash flow information

(D) Purchasing a building by
giving a mortgage to the seller

52. Fixing the value of an employee
depending upon his productivity,
promotability, transferability and
retainability is the core of the
(A) Certainty equivalent model
(B) Stochastic Reward Valuation

model
(C) Human asset multiplier model
(D) Present value of future earnings
model

53. Which of the following refers to a
situation in which the merger of
companies results in over 25% of the
market in the hands of the merged
companies ?

(A) ‘Gateway’ condition
(B) Restrictive practice

(C) ‘Share of supply’ test
(D) ‘Asset’ test

54. Which of the following is true ?

(A) Systematic risk is diversifiable
but unsystematic risk is non-
diversifiable.

(B) Systematic risk is  non-
diversifiable but unsystematic
risk is diversifiable.

(C) Both systematic and
unsystematic risks are
diversifiable.

(D) Both systematic and
unsystematic risks are non-
diversifiable.

Paper-I11

&

18

Match the following :
List -1 List - I1
(Explanation) (Term)

(a) It involves using (1) Audit Trail

the version of Controls
master file and
the update
transactions used
to create the
current file to re- . &
create the current "' ‘
master file if it - / |
becomes A/ ./
damaged. ’

(b) It involves = (2) Dumplng

copying tl';e

whole F
ortlo of th
atabase to sbme

back up medium,

typically
agnetics tape.

c)#lt stores current
and historical

a€xtracted
from various
operations

¢ systems and
consolidates for
management
reporting and
analysis.

(d) It maintains the  (4) Data
chronology of warehouse
events that occur for
either to the Accounting
database
definition or the
database itself.

Codes :

(@ () (© @
@ & @ @G O
B & O @ @
e @O 3 O @
O @ 3 O @)

(3) Grandfather,
Father, Son

J-08-14
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51. ffafad & @ &9 @ TS, AS-3 &
IUTH H AR R IHg WA &
foeror 4 fov &9 9 T gt € 2

(A) T I Sl § aRae

(B) Twfd ! Ug U UTe AT

(C) Yoo U TRUEH %% Yo
W

(D)  Torshel Sl W@ ST SART GRIGAT

52. 3O ICUARHAT, HALHIFT, Ao
R WAER0T & W R R A
FEEAR! 1 T ferR Fr fHaesr ar-
TaE?

(A) Tfv=aar g9qed Ated

(B) OWI/ATGr% TR o Hiee
(C) e qRHHfd T Aree

(D) el IUTSHI T FHH Jod S

53. ffated 5 ¥ 69 ferfq § st &

I & HorEey IR & 25%*(L

foeTfar =t o &reli o o1 ST € 2
(A) ‘TERIER (2 9) i fefa
(B) WdaETcHs Wi

(C) ‘emgiq-3ier wiieror

(D) “ufmf e

54, TAfafEd § 9 T T € 2

F -5

(A) =afem Sifen = T W
awa@ﬁﬁf@nﬁrmﬁﬂ%l
arorﬁmaaﬁf@ﬂﬁ?wuaﬁa%m
FAGNT SGH SFIEaGE ¢ |
AR el {eFe T SEH g1
Y & |

AR el {eFeEIdT SEH g1
TR STeTa & |

®)
©
(D)

J-08-14
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55. fHfatEa 1 fHam 1

e -1 =t - 11
(ATEAT) (T%)

(a) T& ART WA 3R (1) aAifee
[ LI 5 Lo - T |

@O % 3w § e
TEfYd & S e "
IR e, g g < g N

TE ¥, A UGN A ) |
¥ T T wed { ./
ofm w sﬁh r
%ﬁmw%| - '
(b) %W?a@mw (2) <fioT
nﬁ%msﬁmﬂo—iﬁw
q e T & W
T S F T
()4 =T v (3) T,
2t Feprer o wdl
o U Ui 2
Sl T AT & AR
Tere RaiferT wa
foreeioor & o wnfsa
FATE |
(d) TE TS 1 HIATHA (4) TG
FHIY TG & ST {5 AT & ford
T ST RS 37 32T Yer
@d g § gt ¥ |
T :

(=N

(@ (b)) © @
@ & @ @ O
B & @O O @
e @O 3 O @

M @ & @ @D
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56.

57.

58.

59.

60.

61.

Which one is not a major component
of holistic marketing ?

(A) Relationship marketing

(B) Integrated marketing

(C) Internal marketing

(D) Socially responsible marketing

The final step in target marketing is
(A) Market Analysis

(B) Market Positioning

(C) Market Segmentation

(D) Market Targeting

The most recent consideration in
product packaging is

(A) Cost effectiveness

(B) Product protection

(C) Product promotion

(D) Economy

Distribution logistics (also termed as
‘market logistics’) does not include
(A) Distribution channel

(B) Inventory

(C) Transportation

(D) Warehouses

Most of the money spent in

measuring the effectiveness of

advertising is spent on

(A) Communication-response
research

(B) Pre-testing the advertisements

(C) Post-testing the advertisements

(D) Sales-response research

Which of the following is not
included in the model of the systems
approach to  human resource
management ?

(A) Departmentation

(B) Recruitment

(C) Performance Appraisal

(D) Promotion

Paper-I11
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62.

63.

64.

65.

66.

67.

Which one of the following is not an
example of Herzberg’s hygiene
factors ?

(A) Advancement

(B) Interpersonal relations

(C) Job security

(D) Work conditions

Which of the following two forms of
collective bargaining were identified
by Chamberlain and Kuhn ?
(A) Integrative Bargaining
Distributive Bargaining
(B) Conjunctive Bargaining and
Cooperative Bargaining
(C) Integrative Bargaining
Cooperative Bargaining
(D) Distributive Bargaining and
Conjunctive Bargaining

and

and

Who observed that a worker’s
behaviour and sentiments are closely
related ?

(A) Peter Drucker (B) Elton Mayo
(C) F.W.Taylor (D) Dale Yoder

What is not an operative function of
HRM ?

(A) Procurement

(B) Development

(C) Organising

(D) Integration

The total number of Special
Economic Zones notified by the
Government of India till March 2011
under the SEZ Act, 2005 is

(A) 154 (B) 184
(C) 286 (D) 386
The different forms of IMF

assistance are given below. Identify
the one which is mainly meant for
Less Developed Countries (LDCs)
(A) Credit Tranche Drawing

(B) Extended Fund Facility

(C) Compensatory Financing

Facility
(D) Structural Adjustment Facility
J-08-14
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56.

57.

58.

59.

60.

61.

AT a1 T Gees F Tal § 2
(A) Ty faquE

(B) THIHT fquur

(C) TR faauE

(D) QTSI T ¥ TR fauum

@ foque B 1| que ¢
(A) TR fowetor
(B) TR Jarefd
(C) 9NR fa@ueA
(D) SR eI

SAE I G W Faltas &l &l
T FME?

(A) TN TTeRTera

(B) 3R HEI0T

(C) 3] GagH

(D) e

famor o= ("8 9eR a= ﬁ’rﬁnk
ST ® 1) H fEfaiEd § 9 #E o
i &t € 2
(A) oo o9
(C) uRaed

(B) wrergH
(D) HTATEH

o= & gWERtedr A & ol
AR & Tor I 9 Tomar STan § 2

(A) TUTOT - UfdTshaT e
(B) Tor=moAT 1 gal-udteTor
(C) Tor=moT 1 STR-IteTor
(D) Teshi-vfatsear sy

AT G T % TSR ST T §
fr=feiad § 9 o1 GO el 8l & 2
(A) foomieor (B) ol

(C) oI g (D) uRa

J-08-14

62.

63.

65.

66.

67.

BN o HIH-GHE & Heh T TR0
frefeiiga 5 9 s &l € 2

(A) 3@

(B) 3ot HaY
(C) = (Sie) gt
(D) 1 =t et

e Hearstt o fAfofad gt & J
Y et Tea e U8 $g 51T @
TS ot ?

(A) THRT FiaTsT T forwes giearsit
(B) iR TiRaTS Te Wehn! |aarsit
(C) THfw HieaTst Td Weshr! Fiaarstt
(D) Toees Hicarst e AT Fearsit

a'er%zrif A fE T T
RN A HEHT T &7 § Fraied & 2
(A) TrRT g (B) TeeA uat
(C) ThHT=Y, oR (D) = AT

Q%.W@.aﬂ%mmﬁwaﬁqwqﬁ%?
(A) wmaor (B) forerd
(C) wWea T (D) FH&A

o9 aAfufEm, 2005 & St HWI
2011 % YRA TWHR & §RT regrad
faei s ol #t FoT HEME
(A) 154 (B) 184

(C) 286 (D) 386

ST qET 1T ! FeTFaT & 9= &7
I 53 T § | %A fosiad Ie % o
=T Y 9 HH G E 2

(A) whieT T g
(B) TawaRa iy gfaen

(C)  eafcToRen feraaroi gfaet
(D) TEACHSE THIIIST Gaen
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68.

69. Which one of the following is an
internal hedging technique ?
(A) Leading
(B) Netting
(C) Both (A) and (B) above
(D) Swap

70. Business conglomerates havei.
different names in  different
countries. Which country’s
conglomerates are called ‘Chaebols’ ?
(A) Japan
(B) South Korea
(C) Germany
(D) China

71. Mr. X, a non-resident, earned
¥ 36,000 as interest on German
Development Bonds. Of this, he
received one-sixth in India. The
amount to be included as interest for
the computation of his Gross Total
Income is
(A) % 36,000 (B) % 30,000
(C) R 6,000 (D) Nil

Paper-I11

In the context of globalization,

‘Levitt Thesis’ means

(A) Standardisation strategy to
respond to the worldwide
homogenised  market  and
expand the market through
aggressive low pricing

(B) Customise products to regional
markets

(C) Customise products to meet the
national market

(D) None of the above

72.

73.

74.

75.

22

Consider the following problem
relating to a let-out house property :
Municipal value — X 60,000

Fair rent — ¥ 68,000

Standard rent under the Rent Control
Act - 62,000

Annual Rent received — T 65,000

The Gross Annual Value of the

property will be
(A) R 68,000 (B) 62,000
(C) R 65,000 (D) 60,000

From the following, identify by the
web-based financial software :

(A) Private Equity Software

(B) Share Accounting Software

(C) Wealth Management Software
(D) WINGS 2013

Which of the following are true in
tax planning ?

(1)  Itis futuristic in its approach.
(i) It has limited scope compared
to tax management.

The benefits arising from it are
limited particularly in the short
run.

Its main objective is to reduce
the tax liability.

Codes :

(A) (), (1) and (iii)

(B) (1) and (ii)

(C) (@) and (iv)

(D) (i), (ii1) and (iv)

(ii1)

(iv)

The benefits of debt financing over
equity financing are likely to be
highest in which of the following
situations ?
(A) High marginal tax rates and
low non-interest tax benefits
(B) Low marginal tax rates and low
non-interest tax benefits
(C) High marginal tax rates and
high non-interest tax benefits
Low marginal tax rates and
high non-interest tax benefits.

D)
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68. TVEIUT & WY H ‘oifge qifgw

oS

(A) ToveeTd TEsdE SR & uid
UTdtshar A & o1 AT
THEITT AR AhHE 7= HEd
fuRor & WRE SR foraia
FHE |

(B) &S SR § ScIIET ol WTeeh o
STER ST |

(C) T ISR 0 g & Sea&l
e U a9 |

(D) SUIF H T HIE T

69. 3N T debites fefoifad o 9
HIT A T2

(A) wRTERI (Siite)
(B) At
(C) (A) X (B) &
(D) WY

70. W@Wﬁﬁqﬂﬁﬁ'ﬁ:ﬁw

& | fohll 391 ol W2 “elieTd’ el & 2
(B) feor it
(D) =M

(A) STUE
(C) ST

71. e, SmE X | S o dved
W T 36,000 AT UM fohar | 309§
3T Bedr eF IRd W und feear |
ITH FHeT ol 3T Hl ARA0ET & o7
N % TG T TRl ART TEIEE &
ST 2

72.

73.

{74.

75.

(A) % 36,000 (B) 30,000
(C) 6,000 D) =
J-08-14
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fE W 32E T W T g
FfetEd T9er W faar Y :
TR 7ed — 3 60,000

3tad femr — T 68,000

o =T RIEw & 3T A
T = T 62,000

iR feRTra aTe g3T - 3 65,000

T T Geher Afteh Jodl BN —

(A) % 68,000 (B) % 62,000
(C) % 65,000 (D) ¥ 60,000

frafafea & @ a9 emuia faxia
AR Tl Tgd

(A) TTEeE St HireaaX

(B) 33 iEih WA

(C) TwOST Uewe Aieaas

(D) WINGS 2013 (oFT9 2013)

Y Ao & ey § o G § 2

(i) T8 31 gfteshior & Aigeaml & |
(i) o YU B AT H SHR A
gTY |

Y 3O oY fouT ®9 9 o1
el § GiEd &ld ¢ |

THH T 32T FX NI Hhl HH
FATE |

HT:

(A) (i), (ii) 3R (i)

B) (i) R (i)

©) (@) 3R (iv)

(D) (i), (iii) 3 (iv)

Fia! fomaooT & SHUT RO faaor &

oy fore Tefa & S=aaw & gehd € 2

(A) ST 9EFT W K AR = TR
TS T AT

(B) T=1 dmrg & X o =1 -
TS T A

(C) 3= I & L 3 I=9 -
TS T AT

(D) Fm g W R R = -
TS T A

(ii1)

(iv)
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